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Question Numbers : (1 to 5)
Question Label : Comprehension



She thinks how she fought a flood during her husband's absence. She stood for hours in the drenching
downpour. and dug an overflow gutter to save the dam across the creck. But she could not save it. There are
things that a bushwoman cannot do. Next morning the dam was broken. and her heart was nearly broken too.
tor she thought how her husband would feel when he came home and saw the result of years of labour swept
away. She cried then.

She also fought the pleuro-pneumoma - dosed and bled the few remaining cattle, and wept again when her two
best cows died.

Again. she fought a mad bullock that besieged the house for a day. She made bullets and fired at him thorugh
cracks in the slabs with an old shot-gun. He was dead in the morning. She skinned him and got seventeen-and-
sixpence for the hide.

She also fights the crows and eagles that have designs on her chickens. Her plan of campaign is very original.
The children cry "Crows. mother!" and she rushes out and aims a broomstick at the birds as though it were a
gun. and says "Bung!" The crows leave in a hurry: they are cunning, but a woman's cunning is greater.

Ocassionally a bushman in the horrors, or a villaimnous looking sundowner. comes and nearly scares the life out
of her. She generally tells the suspicious-looking stranger that her husband and two sons are at work below the
dam. or over at the yard. for he always cunningly mquires for the boss.

Sub questions

Question Number : 1 Question Id : 68634010023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |She saves the dam [. By aiming a broomstick
B. |She fought a mad bullock II. |The skin of the bullock
C. |5he fought the crows and eagles| II1. [By firing bullets
D. |She =old IV. By digging an overflow gutter

Choose the correct answer from the options given below:

1. A-TII. B-1. C-IV, D-I1

| )

CA-IL B-IV. C-1, D-III
3. A-IV. B-1. C-TII. D-II
4. A-IV, B-111, C-I. D-II

Options :

68634039601. 1
68634039602. 2
68634039603. 3
68634039604. 4

Question Number : 2 Question Id : 68634010024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How did 'she’ kill the mad bullock?

1. She hit him with a broomstick

2

. She skinned him and he died
3. She fired bullets with an old shot gun
4, She fought with it and hit him hard
Options :
68634039605. 1
68634039606. 2

68634039607. 3
68634039608. 4

Question Number : 3 Question Id : 68634010025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

She fought with the crows and eagles because

1. They were making a lot of noise

[

. They wanted to tease her cattles
3. They were a nuisance

4. They wanted to eat her chickens

Options :

68634039609. 1
68634039610. 2
68634039611. 3
68634039612. 4

Question Number : 4 Question Id : 68634010026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option:

From the passage it can be said that 'SHE' is a lady:.

1. Suspicious

b2

. Cruel
3. Brave
4. Sensitive

Options :
68634039613. 1



68634039614. 2
68634039615. 3
68634039616. 4

Question Number : 5 Question Id : 68634010027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the sentence. "They are cunning. but a woman's cunning 1s greater 'THEY" refers to

1. Cattles

[ )

. Chickens
3. Cows
4, Crows

Options :

68634039617. 1
68634039618. 2
68634039619. 3
68634039620. 4

Question Id : 68634010022 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

She thinks how she fought a flood during her husband's absence. She stood for hours in the drenching
downpour, and dug an overflow gutter to save the dam across the creek. But she could not save it. There are
things that a bushwoman cannot do. Next morning the dam was broken. and her heart was nearly broken too.
for she thought how her husband would feel when he came home and saw the result of years of labour swept
away. She cried then.

She also fought the pleuro-pneumonia - dosed and bled the few remaining cattle, and wept again when her two
best cows died.

Agam. she fought a mad bullock that besieged the house for a day. She made bullets and fired at him thorugh
cracks in the slabs with an old shot-gun. He was dead in the morning. She skinned him and got seventeen-and-
sixpence for the hide.

She also fights the crows and eagles that have designs on her chickens. Her plan of campaign is very original.
She also fights th d eagles that have desig her chickens. Her plan of g ginal
The children cry "Crows, mother!" and she rushes out and aims a broomstick at the birds as though it were a
gun. and says "Bung!" The crows leave in a hurry: they are cunning. but a woman's cunning is greater.

Ocassionally a bushman in the horrors, or a villainous looking sundowner. comes and nearly scares the life out
of her. She generally tells the suspicious-looking stranger that her husband and two sons are at work below the
dam, or over at the yard. for he always cunningly inquires for the boss.

Sub questions

Question Number : 1 Question Id : 68634010023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTIT
A |She saves the dam I. |By aiming a broomstick
B. [She fought a mad bullock I1. [The skin of the bullock
C. |She fought the crows and eagles| II1. [By firing bullets
D |She sold IV By digging an overflow gutter|

Choose the correct answer from the options given below:

1. A-IIL. B-I. C-IV, D-I1

|

CA-IL B-IV. C-1, D-ITT
3. ATV, B-1. C-II1L, D-I1
4. A-IV. B-111. C-1. D-I1

Options :

68634039601. 1

68634039602. 2

68634039603. 3
68634039604. 4

Question Number : 2 Question Id : 68634010024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How did 'she’ kill the mad bullock?

. She hit him with a broomstick

—

b2

. 5he skinned him and he died

LFS]

. She fired bullets with an old shot gun
4. She fought with it and hit him hard

Options :

68634039605. 1
68634039606. 2
68634039607. 3
68634039608. 4

Question Number : 3 Question Id : 68634010025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



She fought with the crows and cagles because

1. They were making a lot of noise

| B

. They wanted to tease her cattles
3. They were a nuisance
4. They wanted to eat her chickens
Options :
68634039609. 1
68634039610. 2

68634039611. 3
68634039612 4

Question Number : 4 Question Id : 68634010026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option:

From the passage it can be said that 'SHE' is a lady:.

1. Suspicious

2

. Cruel
3. Brave
4, Sensitive

Options :

68634039613. 1
68634039614. 2
68634039615. 3
68634039616. 4

Question Number : 5 Question Id : 68634010027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the sentence. "They are cunning, but a woman's cunning is greater "THEY" refers to

1. Cattles

| B

. Chickens
3. Cows
4, Crows

Options :
68634039617. 1



68634039618. 2
68634039619. 3
68634039620. 4

Sub-Section Number : 2
Sub-Section Id : 686340327
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634010028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The correct spelling is:

1. ACCOMODOTION

[ )

. ACOOMOODATION
3. ACCOMMODATION

4. ACAMODATION

Options :

68634039621. 1
68634039622. 2
68634039623. 3
68634039624. 4

Question Number : 6 Question Id : 68634010028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The correct spelling is:

1. ACCOMODOTION

[ ]

. ACOOMOODATION
3. ACCOMMODATION

4. ACAMODATION

Options :

68634039621. 1
68634039622. 2
68634039623. 3
68634039624. 4

Question Number : 7 Question Id : 68634010029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correctly spelt word from the following options is

1. AGOLOMARATE

| B

. AGGLOMERATE
3. AGLOMARATE

4. AGGLOMARETA

Options :

68634039625. 1
68634039626. 2
68634039627. 3
68634039628. 4

Question Number : 7 Question Id : 68634010029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correctly spelt word from the following options is

1. AGOLOMARATE
2. AGGLOMERATE
3. AGLOMARATE
4. AGGLOMARETA

Options :

68634039625. 1

68634039626. 2

68634039627. 3
68634039628. 4

Question Number : 8 Question Id : 68634010030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The antonym of "CAPTIOUS" 1s:

1. Basic

[ )

. Detailed

Lad

. Capable

4. Tolerant

Options :
68634039629. 1
68634039630. 2



68634039631. 3
68634039632. 4

Question Number : 8 Question Id : 68634010030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The antonym of "CAPTIOUS" 1s:

1. Basic

[ B

. Detailed

LIPS ]

. Capable
4. Tolerant

Options :

68634039629. 1
68634039630. 2
68634039631. 3
68634039632. 4

Question Number : 9 Question Id : 68634010031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

One who helps you more than anything else when problems occur 1s:

1. Apple of one's eye

| B

. Sheet anchor
3. Alive and Kicking
4. Above board

Options :

68634039633. 1
68634039634. 2
68634039635. 3
68634039636. 4

Question Number : 9 Question Id : 68634010031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



One who helps you more than anything else when problems occur 1s:

1. Apple of one's eye

| B

. Sheet anchor

LIF¥]

. Alive and Kicking
4. Above board

Options :

68634039633. 1
68634039634. 2
68634039635. 3
68634039636. 4

Question Number : 10 Question Id : 68634010032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Replace the underlined part of the sentence with the correct option:

My mother bought ice-cream for my sister and me, but she didn't buy one herself.

1. for my sister and me. but she didn't buy herself one

b2

. for my sister and me. but she didn't buy one for herself
3. for my sister and myself. but she didn't buy one for herself
4. for my sister and I. but she didn't buy one for her

Options :

68634039637. 1
68634039638. 2
68634039639. 3
68634039640. 4

Question Number : 10 Question Id : 68634010032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Replace the underlined part of the sentence with the correct option:

My mother bought ice-cream for my sister and me. but she didn't buy one herself.

1. for my sister and me. but she didn't buy herself one

2

. for my sister and me. but she didn't buy one for herself
3. for my sister and myself. but she didn't buy one for herself
4. for my sister and I. but she didn't buy one for her

Options :

68634039637. 1
68634039638. 2
68634039639. 3
68634039640. 4

Question Number : 11 Question Id : 68634010033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-
/

Ravi invested certain sum on simple iterest, He invested two-third of his sum at 7% p.a and the remaining at
8% p.a. In 3 years he earned ¥1320 as interest. Find the sum invested by him (in 2).

1. 4000
2. 5000
3. 6000
4, 6400
Options :
68634039641. 1
68634039642. 2

68634039643. 3
68634039644. 4

Question Number : 11 Question Id : 68634010033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-
/

Ravi mvested certain sum on simple mterest. He invested two-third of his sum at 7% p.a and the remaining at
8% p.a. In 3 years he earned 1320 as interest. Find the sum invested by him (i ).

1. 4000
2. 5000
3. 6000

4. 6400



Options :

68634039641. 1
68634039642. 2
68634039643. 3
68634039644. 4

Question Number : 12 Question Id : 68634010034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In what ratio must a grocer mix tea leaves costing Rs.600/kg and rs.650/kg. So that by selling the mixture at
Rs.682/kg, he gams 10%?

1.3:2

[ ]
Lad
aha

4. 4:

LA

Options :

68634039645. 1
68634039646. 2
68634039647. 3
68634039648. 4

Question Number : 12 Question Id : 68634010034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In what ratio must a grocer mix tea leaves costing Rs.600/'kg and rs.650/kg. So that by selling the mixture at
Rs.682/kg. he gains 10%?

1.3:2

L]
L]
L

4. 4:

L

Options :

68634039645. 1
68634039646. 2
68634039647. 3
68634039648. 4

Question Number : 13 Question Id : 68634010035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If sec 5 A= Cosec A. then the value of A is

1.30°

| ]
—
L

=]

4.45°

Options :

68634039649.
68634039650.
68634039651.
68634039652.

AW N =

Question Number : 13 Question Id : 68634010035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If sec 5 A= Cosec A. then the value of A is

1.30°

| ]
—
A

a

4.45°

Options :

68634039649.
68634039650.
68634039651.
68634039652.

AW N =

Question Number : 14 Question Id : 68634010036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): If volumes of two spheres are in the ratio 125:64, then their surface areas will be in the ratio
25:16.

Reason (R): If volumes of two spheres are V. V, and their respective surface areas are 8. S,. then

]

=,
g

tad| b2

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) 18 correct but (R) 13 not correct
4. (A) 1s not correct but (R) 1s correct

Options :

68634039653. 1

68634039654. 2

68634039655. 3
68634039656. 4

Question Number : 14 Question Id : 68634010036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): If volumes of two spheres are in the ratio 125:64. then their surface areas will be in the ratio
25:16.

Reason (R): If volumes of two spheres are V. V, and their respective surface areas are 8. S,. then

S (v P
$; (V2

In the light of the above statements. choose the most appropriate answer from the options given below:

[y

. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

-2

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

L]

. (A) 15 correct but (R) is not correct
4. (A) is not correct but (R) is correct
Options :

68634039653. 1
68634039654. 2



68634039655. 3
68634039656. 4

Question Number : 15 Question Id : 68634010037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Twelve men can do a work in 8 days and 16 women can do the same work in 12 days. Eight men and § women
worked together for 6 days. How many additional men need to be employed to complete the remaining work
in one day?

1.8

| )
pL]

4.15

Options :

68634039657. 1
68634039658. 2
68634039659. 3
68634039660. 4

Question Number : 15 Question Id : 68634010037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Twelve men can do a work in 8 days and 16 women can do the same work in 12 days. Eight men and § women
worked together for 6 days. How many additional men need to be employed to complete the remaming work
i one day?

1.8

[ B]
Rl

[F5]

8 i
4.15

Options :

68634039657. 1
68634039658. 2
68634039659. 3
68634039660. 4

Question Number : 16 Question Id : 68634010038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many such pairs of letters are there in the word "YOUTUBE". which have as many letters between them
in the word as in the English alphabet?

1. One

| )

. Twao
3. Three

4, None

Options :

68634039661. 1
68634039662. 2
68634039663. 3
68634039664. 4

Question Number : 16 Question Id : 68634010038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many such pairs of letters are there in the word "YOUTUBE", which have as many letters between them
in the word as in the English alphabet?

1. One

| )

. Two
3. Three

4. None

Options :

68634039661. 1
68634039662. 2
68634039663. 3
68634039664. 4

Question Number : 17 Question Id : 68634010039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If PAPER 1s coded as OQEOQIQS. then the code for SINCE will be:

1. STOMOBDI

[ )

. RTOOMDIK

L]

. RTOMODDI

4. RTOMOBDI

Options :



68634039665. 1
68634039666. 2
68634039667. 3
68634039668. 4

Question Number : 17 Question Id : 68634010039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If PAPER 1s coded as OQEOQQIQS. then the code for SINCE will be:

1. STOMOBDI

[ )

. RTOOMDIK

Lad

. RTOMODDI

4. RTOMOBDI

Options :

68634039665. 1
68634039666. 2
68634039667. 3
68634039668. 4

Question Number : 18 Question Id : 68634010040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'A's father 1s 'B's son. C 1s the paternal Uncle of A and D 1s the brother of B. How 1s D related to C?
1. Son
2. Nephew
3. Brother

4. Uncle

Options :

68634039669. 1
68634039670. 2
68634039671. 3
68634039672. 4

Question Number : 18 Question Id : 68634010040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'A's father 1s 'B's son. C 1s the paternal Uncle of A and D is the brother of B. How is D related to C?

1. Son

| B

. Nephew
3. Brother

4. Uncle

Options :

68634039669. 1
68634039670. 2
68634039671. 3
68634039672. 4

Question Number : 19 Question Id : 68634010041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Complete the following number series.

2o 5 ¥ 23,312

1. 37

| )

.41
3.43
4. 33

Options :

68634039673. 1
68634039674. 2
68634039675. 3
68634039676. 4

Question Number : 19 Question Id : 68634010041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Complete the following number series.

pl o B 1508 0 2t e [

1.37

[ ]

.41



Options :

68634039673. 1
68634039674. 2
68634039675. 3
68634039676. 4

Question Number : 20 Question Id : 68634010042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Statement: A physics teacher in the class announced to keep a copy of concepts of physics written by her.
Agsumptions:
I. The book is well-written

II. Every student can afford to buy the book

1. If only I 1s implictt

]

2. If only IT 1s implieit
3. If neither I nor IT 1s implicit

4. If both I and IT are implicit

Options :

68634039677. 1
68634039678. 2
68634039679. 3
68634039680. 4

Question Number : 20 Question Id : 68634010042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Statement: A physics teacher in the class announced to keep a copy of concepts of physies written by her.
Assumptions:
I. The book is well-written

II. Every student can afford to buy the book

L. If only I is implicit

| ]

 If only 11 15 implicit
3. If neither I nor II 1s implicit
4. If both I and II are implicit

Options :
68634039677. 1



68634039678. 2
68634039679. 3
68634039680. 4

Question Number : 21 Question Id : 68634010043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Musical Instrument)| (Instrumentalists)
A |Sarod 1. |Bismillah Khan
B. |Shehnai IT. |Ravi Shankar
C. |Sitar 11T |JAmjad Ali Khan|
D. |Tabla IV, |Zakir Hussain

Choose the correct answer from the options given below:

1. A-IV. B-1. C-II, D-ITI

| )

AL B-1L C-IV. D-II
3. A-IIL, B-1. C-I1, DIV
4. A-L. B-III. C-II, D-IV

Options :

68634039681. 1
68634039682. 2
68634039683. 3
68634039684. 4

Question Number : 21 Question Id : 68634010043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Musical Instrument)| (Instrumentalists)
A |Sarod 1. |Bismaillah Khan
B. |Shehnai IT. |Ravi Shankar
C. |Sitar IIT. |Amjad Ali Khan|
D. |Tabla IV, |Zakir Hussain

Choose the correct answer from the options given below:

1. A-IV, B-1. C-II, D-II1

[ ]

CACLL B-LL C-IV. D-TT
3. A-IIL B-1. C-I1. DIV
4. A-L. B-III, C-1I, D-IV

Options :

68634039681. 1

68634039682. 2

68634039683. 3
68634039684. 4

Question Number : 22 Question Id : 68634010044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In 'Kharif' crop season. Crops are sown in the month of June/July and harvested in the months of
September/October.

Statement IT: Example of 'Kharif' crops are wheat. peas. mustard. sesame.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement [ and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is imncorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634039685. 1
68634039686. 2

68634039687. 3
68634039688. 4



Question Number : 22 Question Id : 68634010044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In 'Kharif crop season. Crops are sown in the month of June/July and harvested in the months of
September/October.

Statement IT: Example of 'Kharif' crops are wheat. peas. mustard. sesame.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| ]

. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement II is incorrect
4. Statement [ is incorrect but Statement II is correct
Options :
68634039685. 1
68634039686. 2

68634039687. 3
68634039688. 4

Question Number : 23 Question Id : 68634010045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Repo rate is the rate. at which RBI lends short-term money to the banks against security.
Statement IT: Reverse repo rate is always 100 base point, 1% less than Repo rate.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| )

. Both Statement I and Statement II are incorrect
3. Statement I 15 correct but Statement IT is mecorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634039689. 1
68634039690. 2
68634039691. 3
68634039692. 4

Question Number : 23 Question Id : 68634010045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Repo rate is the rate. at which RBI lends short-term money to the banks against security.
Statement IT: Reverse repo rate is always 100 base point, 1% less than Repo rate.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is mcorrect
4. Statement I 1s incorrect but Statement IT 1s correct
Options :
68634039689. 1
68634039690. 2

68634039691. 3
68634039692. 4

Question Number : 24 Question Id : 68634010046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Article of the Indian Constitution provides for equal opportunities for all citizen in public employment?
1. Article 22
2. Article 16
3. Article 20
4. Article 25

Options :

68634039693. 1
68634039694. 2
68634039695. 3
68634039696. 4

Question Number : 24 Question Id : 68634010046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which Article of the Indian Constitution provides for equal opportunities for all eitizen in public employment?

1. Article 22

| B

. Article 16
3. Article 20
4, Article 25

Options :

68634039693. 1
68634039694. 2
68634039695. 3
68634039696. 4

Question Number : 25 Question Id : 68634010047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

(Defect of eve) |(Tyvpe of lens used to remove defect)
Myopia I. |Convex lens

Hypermetropia| II. [Bi-focal lens

Preshyopia ITT. |Cylindrical lenses

Astigmatism | IV, [Concave lens

ol ofw[>

Choose the correct answer from the options given below:

1. A-IIL, B-I. C-II. D-IV

| )

. A-1. B-IV. C-II, D-III
3. A-IV. B-1, C-I1I. D-II
4. A-IV. B-1, C-1I, D-III

Options :

68634039697. 1
68634039698. 2
68634039699. 3
68634039700. 4

Question Number : 25 Question Id : 68634010047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

(Defect of eve) |(Tyvpe of lens used to remove defect)
MMyopia I. |Convex lens

Hvpermetropia| I [Bi-focal lens

Presbyopia III. |Cvlindrical lenses

Astigmatism | IV. [Concave lens

o[ ofw[>

Choose the correct answer from the options given below:

1. A-IIL, B-1. C-II. D-IV

[ ]

CA-L B-IV, C-I1, D-ITI
3. A-IV. B-1. C-1II. D-I1
4. A-IV. B-1, C-I1, D-ITI

Options :

68634039697. 1

68634039698. 2

68634039699. 3
68634039700. 4

Part B: Agri Business Management

Section Id : 686340200
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340328
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634010048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Grass seeds I. [Wild sunflower, Bulrush
B. |Nut trees II. |Wild rice, Wheat grasses
C. |Forb seeds IT1. |Hog Peanut, Wild Licorice
D. Roots, tubers and rhizomes of Frogh - W
plants

Choose the correct answer from the options given below:

1. A-IL. B-IV, C-I, D-III

| B

AL B-IV, C-11, D-I
3. A-L. B-II. C-III., D-IV
4. A-IV, B-11I. C-I1, D-1

Options :

68634039701. 1
68634039702. 2
68634039703. 3
68634039704. 4

Question Number : 26 Question Id : 68634010048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g4 11 9 fHarH Sifen
Gl T 11

T & L[Sl (@0l e) TTITa, §e3T]
i ge 11 [SFTT 4H, 71 919 (@ io e d1aa)
U a1t 111 |42, §-4fcheH ferepI=iaat / &1

_[91s. @5 AR urey & UgeiH| IV, [geeHe. Hid (Uud Ta)

frafarad faweat # T 96 SR &1 997 BIfo -

1. A-II. B-IV. C-1. D-ITI

ofofw]>

| ]

AL B-IVL. C-I1L D-I
3. A-L. B-I1, C-III. D-IV
4. A-IV. B-IIL C-II. D-I

Options :

68634039701. 1
68634039702. 2
68634039703. 3
68634039704. 4



Question Number : 27 Question Id : 68634010049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Weeds act as:

1. Mirconutrients to valuable crop

[ )

. Alternate hosts that harbour insects. pests and diseases

L]

. Favourable soil substance
4. Favourable plant for solar radiation and space

Options :

68634039705. 1
68634039706. 2
68634039707. 3
68634039708. 4

Question Number : 27 Question Id : 68634010049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EAAR Y FIH T Hd © --

—

 HeddH B8 & Y& 919D dcd
BTt TRUN o7 TR e, TS BIe aul I BT A& el &

R e ey
4. HIHd UGy 9R (il qu1 ®IF & fig

| ]

L]

Options :

68634039705. 1
68634039706. 2
68634039707. 3
68634039708. 4

Question Number : 28 Question Id : 68634010050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s not related to water use efficiency?
1. It 1s commonly used to increase productivity of water

2. It 1s defined as crop yield per unit area per unit of water use

3. The commonly used unit of water use efficiency is ke/m> second
4. Tt 1s based on selection of the properly adapted crops and varieties
Options :
68634039709. 1
68634039710. 2

68634039711. 3
68634039712. 4

Question Number : 28 Question Id : 68634010050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e T O BT 5Td S q&T O e ied el o2
1. T8 I Od &1 ScdTaadl & H1+ & o ugead sial §
2. 7% By Tl Ui $bTs &7 Uid Sls oiel YN & =9 § URHING faar Sidl &
3. Ol SUDHT G&dl &1 &S YHAd: YN 61 o aTdl 3915 keg/m’ U$S g
4. A TR IDd BT aU 5 & 90 R Auia AT g

Options :

68634039709. 1
68634039710. 2
68634039711. 3
68634039712. 4

Question Number : 29 Question Id : 68634010051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Shelf life of papaya fruits may be extended by using the following post harvest treatment

A Storage at 70°C

B. Controlled atmosphere
C. Waxing of fruits

D. Storage at 0°C

E. Storage at 25°C

Choose the most appropriate answer from the options given below:

1. Aand B only

[ ]

.B. C and D only
3.D and E only

4. A B and C only

Options :

68634039713. 1
68634039714.2
68634039715. 3
68634039716. 4

Question Number : 29 Question Id : 68634010051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qUid & Ball B HuE 31 (e argt) F9 H 9 o dets vy SUARI ¥ 9815, o 9ol o7
A. 70°C TR 43RO
B. i gatavur
C. ol R 619 WRd

D. 0°C U HERU
E.25°C TR HSRU

i< fou e fasedi O 9 9ol 3Tk &1 99 Bifoy ;
1. %ad A 3R B
2.%adB.C 3RD
3.%ad D 3IRE
4. PIAA.B IR C

Options :

68634039713. 1
68634039714. 2
68634039715. 3
68634039716. 4



Question Number : 30 Question Id : 68634010052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the periods of Philosophy of Community Development in chronological order.

A Intense Agriculture Development era

B. Pre Independence era

C. Post Independence era

D. Community Development and National Extension era
E. Modern community development era

Choose the correct answer from the options given below:
1LABCBDE
2B DB A
3.CDAEB

4.B.C.D.A.E

Options :

68634039717. 1
68634039718. 2
68634039719. 3
68634039720. 4

Question Number : 30 Question Id : 68634010052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JHerE 0o & &¥9 & Brads] @ PIATyR HH 3 T -

A. 51 SN fabrd g
B. qd Iqa=dl Wit g
C. Y oA uife g

D. Wﬁfﬁﬂﬂ%ﬂﬂé’mﬁwgﬂ
E. Yo gHa fabrg g

-t fau 7T fawedi # 9 Hel SR &1 99 Difo -

1.LAB.C.D.E

2.B.C.D.EA

3.0, DAEB

4.B.C.D.A.E
Options :

68634039717. 1
68634039718. 2



68634039719. 3
68634039720. 4

Question Number : 31 Question Id : 68634010053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Modern Cropping systems are:

1. Annual Monocultures

b2

. Control using pesticides
3. Cannot be controlled using herbicides
4. Does not use tillage

Options :

68634039721. 1
68634039722. 2
68634039723. 3
68634039724. 4

Question Number : 31 Question Id : 68634010053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YD DY T B
1. ATt Upd Gae=
2. BICARIDT & WA § FHg=u
3. QAR & AN ¥ FHafEd 8 fdar o o
4. G[dTg 1 YOHT Ag] Sl

Options :

68634039721. 1
68634039722. 2
68634039723. 3
68634039724. 4

Question Number : 32 Question Id : 68634010054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A): Soil 1s a medium for the production and growth of plants.

Reason (R): It provides a constraint for plant roots to grow and absorb the water. oxygen, and nutrients
essential for plant development and growth.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

[ ]

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

Laa

. (A) is correct but (R) is not correct

e

. (A) is not correct but (R) is correct

Options :

68634039725. 1
68634039726. 2
68634039727. 3
68634039728. 4

Question Number : 32 Question Id : 68634010054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ%ﬁwﬁt{m{% (Assertiou:—t]%mﬁﬁﬁﬁ%?ﬁ'mmwmeasou R]a‘T?"_‘qﬁ;
HFUSYT (A): Gal UIeUl & Idiad 91 9fG & e us gy §

BRI (R): T U S5l & g & g quT 9 sitafle quT urey 1 gig d fasm o fong uives dedf &1
ALY P H T16 I0d Fdl o

SWIRIT HYA & IE® 1, A G T fawedl 3 & 999 Iugad SR &1 9949 ey
1. A ¥ R W& & 3R R, A 9t TEt e #

A SRR TELE, AfFAR, A 3 WE AR E B

AWE § AfFT R FE TR B

. AE eI § |fe REE 7

Options :

68634039725. 1
68634039726. 2
68634039727. 3
68634039728. 4

[ ]

Lo

iy

Question Number : 33 Question Id : 68634010055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The process of photosynthesis requires the following:

A. Carbon dioxide
B. Rock
C. Light
D. Insect
E. Water

Choose the correct answer from the options given below:

1.B.C.D

[ )

A B.E
3ACE
4 AC.D

Options :

68634039729. 1
68634039730. 2
68634039731.3
68634039732. 4

Question Number : 33 Question Id : 68634010055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W TR URey0T &1 Wishar § FHafaied @1 srawasar gidl @ -

A, BIE SUAFIES
B. 9@
C. UHTd
D. Bl
E. Od
= feu e et § O UEl 3R @1 9u P -

1.B.C.D

2.A.B.E
3.A.C.E
4.A,C,D

Options :

68634039729. 1
68634039730. 2
68634039731. 3
68634039732. 4



Question Number : 34 Question Id : 68634010056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Vertical Integration in agribusiness oceurs when:

1. A single firm controls several stages in the production of food and/or fiber

(B

. A multiple firm controls in firm production through several stages of farm productivity
3. Horizontal Integration does not take place
4. Two firms act together

Options :

68634039733. 1

68634039734. 2

68634039735. 3
68634039736. 4

Question Number : 34 Question Id : 68634010056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3t GHIS A (dicdd SeldeE) $iY aad 1 gl ¢ o -
6 D13 U@ B QT YT/ O & Scle & @5 9R0N BT a0 SRl &
WTH 318 8 B Idgdmal & (afirs IR0l gRT agdbai-ai Fafd &l g
&S T ad el sldl ©
4. S HUC-TT 1Y BT B §

—

| )

L]

Options :

68634039733. 1
68634039734. 2
68634039735. 3
68634039736. 4

Question Number : 35 Question Id : 68634010057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Breeder seed I |White
Foundation seed] II. [Blue
Certified seed | IIL |[Opal green
Labelled seed | IV. |Golden vellow

ol ofw[>

Choose the correct answer from the options given below:
1. A-IL. B-1. C-III. D-IV
2. A-IL B-IIIL C-IV, D-1
3. A-IIIL. B-1. C-II. D-IV
4. A-IV. B-1. C-I1. D-ITI

Options :

68634039737. 1
68634039738. 2
68634039739. 3
68634039740. 4

Question Number : 35 Question Id : 68634010057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor

T T T 11

. [pa A dise ey I [abg

YR 9ol (Br3sgE drs) | 11 [FHie

AU 1ol (iebres ahan| 111 |30 (g1 &Y
B REIEIGER RS V. [g8 dien

fafarad fawent § T 96l SR &1 997 SO -

1. A-TI. B-I. C-1II. D-IV

Olo|w|e=

2. A-IL B-III, C-IV, D-I
3. A-IIT, B-1. C-1I. D-IV
4. A-IV, B-1, C-1II, D-III

Options :

68634039737. 1
68634039738. 2
68634039739. 3
68634039740. 4



Question Number : 36 Question Id : 68634010058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the statements which are correct for vertisols are:

A. They are fertile with high cation exchange capacity

B. These soil expand and contract because of high clay content

C. Found in dry climates

D. When wet, soils are sticky. when dry they are hard

E. Accumulation of gypsum. calcium carbonate are common features

Choose the correct answer from the options given below:
1. A. B. C and E only
2. Aand E only
3. A BandD only

4. A and B only

Options :

68634039741. 1
68634039742. 2
68634039743. 3
68634039744. 4

Question Number : 36 Question Id : 68634010058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aétara & Hay # 9 0 9 HH-1 YT el §

A. Q3= FHems () AFAg ear S g 3d g
B. 3= Gfie] U1 & SRY I8 o] fawaid aul Sofd gl g
C. I Siar] H Url ol §
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= f3u 7t fowedi § & 98t SR &1 999 DI :
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2. Had A RE
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4. Hdd A 3R B

Options :
68634039741. 1
68634039742. 2




68634039743. 3
68634039744. 4

Question Number : 37 Question Id : 68634010059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Terms) (Scientists)
A |Gene I. Pohannsen
B. |[Recon, Muton | II. |Benzer
C. |Heterosis III. [Bateson
D. |Genetics IV, |Shule

Choose the correct answer from the options given below:

1. A-L B-IIL. C-IV. D-II
2. A-L. B-IV. C-III. D-1I
3. A-L. B-II. C-IV. D-III
4. A-IV. B-II. C-III. D-1

Options :

68634039745. 1

68634039746. 2

68634039747. 3
68634039748. 4

Question Number : 37 Question Id : 68634010059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor
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AR | V. [{[d
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1. A-I. B-III. C-IV. D-II

T 0
BRI

Ofo|w]=

2. A-L. B-IV, C-III, D-II
3. A-L. B-II. C-IV, D-III
4. A-IV, B-I1, C-III, D-I

Options :

68634039745. 1
68634039746. 2
68634039747. 3
68634039748. 4

Question Number : 38 Question Id : 68634010060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Extension administration 1s required in agriculture for:

A Flow of usetul information about agriculture equipment.

B. Knowledge of new technologies related to farming.

C. Govt policies dissemination.

D. Involvement of private seed companies and pesticides companies
E. For better involvement of private players to obtain profit.

Choose the correct answer from the options given below:
1. A, B. Conly
2.B,.C.D only
3.A.C.D only

4.A . B.C.Donly

Options :

68634039749. 1
68634039750. 2
68634039751. 3
68634039752. 4



Question Number : 38 Question Id : 68634010060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fawaTid W1k o1 saxgdal v 4§ (3 4 9 feud e g

A. PN IUSHN & §R H IULNf SR BT Ydle

B. BN I Haltid g db-1p| I A

C. IRHRI Al

D. ot diol Hui-gi auT $IeARE Sa-dl &I HFfER

E. AH YT &3 & oY ol Raartsdl &1 sgd 99a9
= fou e fAwedt § § WE SR &1 994 B :

1.FAAA. B.C

2. %ad B, C,D

3.BAAA.C.D

4. FATA.B.C.D

Options :

68634039749. 1
68634039750. 2
68634039751. 3
68634039752. 4

Question Number : 39 Question Id : 68634010061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Domestication is the:

—

. Adapting or taming of wild species of plants or animals

(B

. Permanent human settlements

L¥ 5]

. Origin of modern civilizations
4. Gradual process likely lasting hundred of years

Options :

68634039753. 1
68634039754. 2
68634039755. 3
68634039756. 4

Question Number : 39 Question Id : 68634010061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039753. 1
68634039754. 2
68634039755. 3
68634039756. 4

Question Number : 40 Question Id : 68634010062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The portion of soil occupied by air and water 1s termed as:

1. Pore space

[ )

. Cohession
3. Adhesion
4. Density

Options :

68634039757. 1
68634039758. 2
68634039759. 3
68634039760. 4

Question Number : 40 Question Id : 68634010062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 g8 YT ol [d ofd a1 9] § S 38T 5. Heamdl o:
1. Teos I (UR ¥0)

Rir e

| )

TS
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4. Yqd

Options :



68634039757. 1
68634039758. 2
68634039759. 3
68634039760. 4

Question Number : 41 Question Id : 68634010063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): The market structure for an industry refers to the number of sellers in the industry.
Reason (R): An oligopoly is composed of numerous firms which produce identical products.

In the light of the above statements. choose the correct answer from the options given below:

[y

. Both (A) and (R) are true and (R) 1s the correct explanation of (A)

2

. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

LFN]

. (A) 1s true but (R) 1s false

=

. (A) 15 false but (R) is true

Options :

68634039761. 1
68634039762. 2
68634039763. 3
68634039764. 4

Question Number : 41 Question Id : 68634010063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#1931 wuT fRw MU ?: ST (Assertion A) ¥ ¥0 F FfEa 2 & E¥RT RO (Reason R) F 30 H;
HfUFYT A: TF I &I STaR S¥a &l He I d fdearei &1 S=m 3

PRI R: TH A9 g BH/HAE O &40 8l § ol TeuHH Sdg a1 o

SURIE U F A o, A 3 T fFeed & | 999 SugE IW $1 9949 Sy

1. A SRR I T8l § IR R, A DI Tg! RS &
A SRR IA TGEI 8. AfFT R . A I I8! RSN T8 &
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[F5]

AT R AR TA R

Options :
68634039761. 1
68634039762. 2



68634039763. 3
68634039764. 4

Question Number : 42 Question Id : 68634010064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The breed of cow that belongs to Uttar Pradesh. Punjab. Haryana and Madhya Pradesh is:

1. Gir

[

. Red Sindli
3. Sahiwal
4. Hallikar
Options :
68634039765. 1
68634039766. 2

68634039767. 3
68634039768. 4

Question Number : 42 Question Id : 68634010064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G &1 98 75 o1l [ IR WS, Uole, SR auT 0 Ueg 4 &
1.TR
e fa=ht
el
4. BT
Options :
68634039765. 1
68634039766. 2

68634039767. 3
68634039768. 4

| )

L

Question Number : 43 Question Id : 68634010065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A): Agriculturally productive soils are formed over a period of 10-12 years.

Reason (R): The type of soils are formed due to interactions of climate, biological organisms. chemical forces.
and physical forces on sedimentary. igneous and metamorphic rocks.

In the light of the above statements. choose the most appropriate answer from the options given below:

a—y

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

[ ]

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

LFS]

. (A) 1s correct but (R) 1s not correct

e

. (A) 1s not correct but (R) is correct

Options :

68634039769. 1
68634039770. 2
68634039771. 3
68634039772. 4

Question Number : 43 Question Id : 68634010065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I St Fu= RRu U 2 firpuA (Assertion A) F FU ¥ fifEd & @Y §¥%1 FRUT (Reason R) & ¥U H;

fIFYE A: H G SEEH Jal, 10-12 T4 & dldl U4 ol a1 §

%mw R_;fﬂ NN @1 gal, Jaarg, Widd Ul TREHE aa, au1 Yiiae 94 - a9, S aul SR g IR IR i

1. A 3R R I 961 § SR R, A DI el RS §

2. A SRR G HE1 &, AfP-TR . A ] 8l IR 181 ©
3 ATR B AfpT R Tt AT R

4 AT TSI g APIRTEI B

Options :

68634039769. 1
68634039770. 2
68634039771. 3
68634039772. 4

Question Number : 44 Question Id : 68634010066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): Cartel is a situation in which a group of independent firms join together to regulate price and
production decisions.

Reason (R): Collusion is a situation of market structure in which firms in an industry jointly determine the
price of the good.

In the light of the above statements. choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
3. (A) 18 true but (R) 1s false
4, (A) 1s false but (R) 1s true

Options :

68634039773. 1

68634039774. 2

68634039775. 3
68634039776. 4

Question Number : 44 Question Id : 68634010066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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FROT R: TIege Hibe g & U sarufd § o we S | dufal fiaes awgel &1 0w HuiRd s 2|
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1. A 3R R &I 961 § SRR, A DI el RS §

2. A SRR G HEl €. AfP-TR . A ] T8l IR 181 ©
3.A9SIg AP R Tl el &

4. AGE T8 g AP R TR ©

Options :

68634039773. 1
68634039774. 2
68634039775. 3
68634039776. 4

Question Number : 45 Question Id : 68634010067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Agrarianism is a belief that promotes the idea that farming is a noble profession and important
economic endeavour.

Statement IT: Agriculture is the process of cultivating land for the production of food, feed. fiber. and fuel
from plants or nature.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

|

. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement IT is correct
Options :
68634039777. 1
68634039778. 2

68634039779. 3
68634039780. 4

Question Number : 45 Question Id : 68634010067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEE aﬂu:rﬁﬂﬂﬂ%':
SHTUTUT (Assertion A) & FY ﬁﬁlﬁﬁ%?ﬁ G PIUT (Reason R) IO,
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68634039777. 1
68634039778. 2
68634039779. 3
68634039780. 4

Question Number : 46 Question Id : 68634010068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In positively skew distribution:

1. Mean = Median = Mode

[ )

. Mean < Median < Mode

Lad

. Mean = Median = Mode
4. Mode = Median = Mean

Options :

68634039781. 1
68634039782. 2
68634039783. 3
68634039784. 4

Question Number : 46 Question Id : 68634010068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS YIS Jag faaror 4

1. O1 = O = S50
2. HI] < HIGS < G5
3. O > AP > 950D
4, 95D > HIHD > 0L

Options :

68634039781. 1

68634039782. 2

68634039783. 3
68634039784. 4

Question Number : 47 Question Id : 68634010069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Fungicides I [Kill insects
Bactericides II. [Kill Bacteria
[Nematicides I |K1ll Fungi
[nsecticides IV [Kill Nematodes

o[ ofw[>

Choose the correct answer from the options given below:

1. A-L. B-II. C-III. D-IV
2. A-IV, B-III. C-I1. D-I
3. A-IIL B-II. C-IV. D-1
4. A-II. B-IIL. C-IV. D-I

Options :

68634039785. 1

68634039786. 2

68634039787. 3
68634039788. 4

Question Number : 47 Question Id : 68634010069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 9 fHaH Sifen

T 1 g 1
A [paopdEe | L [®lcl bl I oidl 6
B. [Siam e | 1 [Siiargsii &1 = & g
c. [FrArRE T | 11 [Gas & T didl &
D. [@icA=® V. HiH1eIS @1 A dedl &

frafafad fdeeal & 9 9l SR &1 994 Sifo :

1. A-I. B-II. C-III. D-IV
2. A-IV, B-III. C-I1. D-1
3. A-IILL B-11, C-IV. D-1
4, A-IL. B-III. C-IV. D-I

Options :

68634039785. 1

68634039786. 2

68634039787. 3
68634039788. 4



Question Number : 48 Question Id : 68634010070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Hidatsa Agriculture was practiced by Hidatsa tribe in a particular region called:

1. Missouri River Valley

(B

. Meditterrancean Sea
3. Red Sea
4. Nile River

Options :

68634039789. 1
68634039790. 2
68634039791. 3
68634039792. 4

Question Number : 48 Question Id : 68634010070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI BN, oS SHSld gR1 U ARy &3 © 1 Wl 8. ol dgardl &
1. PRI =1t wrel
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[ ]

L

T TR
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Options :

68634039789. 1
68634039790. 2
68634039791. 3
68634039792. 4

Question Number : 49 Question Id : 68634010071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The process in which detachment and movement of soil minerals and organic matter occur by wind and water
is called:

1. Detenion
2. Erosion

3. Corrosion
4. Diversion

Options :

68634039793. 1
68634039794. 2
68634039795. 3
68634039796. 4

Question Number : 49 Question Id : 68634010071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ag Ufcha fored a1 @i-e qul prei-a uaidl &1 §d1 @ 9d gR1 Sie SR Fe 6171 Hgaldl o:
1. Se¢fgH

| )

TR
3. &R
4. 3OgA

Options :

68634039793. 1
68634039794. 2
68634039795. 3
68634039796. 4

Question Number : 50 Question Id : 68634010072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The most significant legislation passed for the distribution of unsettled land in United States of America 1s:

1. Homestead Act of 1862

[ )

. Homestead Act of 1858
3. Homestead Act of 1859

4. Homestead Act of 1864

Options :
68634039797. 1



68634039798. 2
68634039799. 3
68634039800. 4

Question Number : 50 Question Id : 68634010072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g WY MRS fdariad (smdeds) Y & faaeur & fay vy fHam uikd g mn e § -
1. 1862 P g s Siftf4gn
1858 DI g S Hfufad
. 1859 P g S SHfAfgH
. 1864 1 gIHRC S Afe-aq

[ ]

L]

e

Options :

68634039797. 1
68634039798. 2
68634039799. 3
68634039800. 4

Question Number : 51 Question Id : 68634010073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |PLC I. |Agreement on Agriculture
B. [WTO II. |General Agreement on Tariff and Trade
C. JADA II1. [Product life cycle
D. |GATT IV, [World Trade Organization

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III. D-IV
2. A-IL B-1IV, C-1, D-II
3. A-IV. B-III. C-1. D-II
4. A-I. B-IV. C-II1, D-II

Options :

68634039801. 1

68634039802. 2

68634039803. 3
68634039804. 4



Question Number : 51 Question Id : 68634010073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 9=t 11 9 e Sifey

T I T 11
A JpLC 1 [fd W g
B. [WTO 11 [B[co d AqUR 4R TTH] ]
C laoa 111 [(iSee TIg®h Higdha
D. [GATT IV. [[§% STUR ¥4

Ffafad Aol & T U8 STk &1 994 SV -

1. A-I, B-IL C-IIL. D-IV

|

AL B-IV. C-1. D-II
3. A-IV, B-I1I. C-1, D-II
4. A-1. B-IV. C-III. D-II

Options :

68634039801. 1
68634039802. 2
68634039803. 3
68634039804. 4

Question Number : 52 Question Id : 68634010074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Damping-off disease of vegetables is caused by:
A. Pythium appanidermatum
B. Clavibacter michiganensis
C. Xanthomenas campistris

D. Alrernaria Selani
E. Phyrophthora parasitic

Choose the correct answer from the options given below:
1. B and C only
2. Aand B only
3. Aand E only

4. A and D only

Options :

68634039805. 1
68634039806. 2
68634039807. 3



68634039808. 4

Question Number : 52 Question Id : 68634010074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el 1 SAMHT 3T I BT RS &

A. UII1HE gUsHeH
B. Foalaaey e

D. Sffee¥edr Tici]
E. BrseleRT geifific s
i fau U f[daredl 1 O 9al 3Tk &1 944 $ifefu ;
1. HBIAB AR C
2. Had A 3R B
3. Had A ARE

4. HFd A 3R D

Options :

68634039805. 1
68634039806. 2
68634039807. 3
68634039808. 4

Question Number : 53 Question Id : 68634010075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following steps involved in product life cycles starting with initial to final steps:

A, Decline
B. Growth
C. Introduction
D. Maturity
E. Consistency
Choose the correct answer from the options given below:
1.E€.B.DAE
2.8, CAD.E
3.6, DA E B
4.C.D.A.B.E

Options :



68634039809. 1
68634039810. 2
68634039811. 3
68634039812. 4

Question Number : 53 Question Id : 68634010075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hisde AW Uedhd (301G silg-gwh) H d 9Rull &1 RIYE I Sifdd 9301 d& ouaid &Ifoy

A BN
B.dis
C. 4 iaa
D. ORg&dr
E. gdqdr

4= f2w e et & € 98 SR BT 9ga P

I.LC.EDLAE
22B.C.ADE
JC.DAE.B
4. C.D.A.B.E

Options :

68634039809. 1

68634039810. 2

68634039811. 3
68634039812. 4

Question Number : 54 Question Id : 68634010076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): Essential elements are those which are necessary for a plant to complete its growth cycle.
These elements are components of a molecule or an enzyme within the plant.

Reason (R): Fifteen elements are essential for plant growth.

In the light of the above statements. choose the most appropriate answer from the options given below:

a—y

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

[ ]

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

LFS]

. (A) 1s correct but (R) 1s not correct

e

. (A) 1s not correct but (R) is correct

Options :

68634039813. 1
68634039814. 2
68634039815. 3
68634039816. 4

Question Number : 54 Question Id : 68634010076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ%ﬁmﬁﬁt{wé GlﬁW(AssertiouA]%mﬁﬁﬁﬁ%?ﬁmW(Reasun R)a?mﬁ
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@RI R: UIGY 1S & [T 15 T S0P g |

SWRIFd DY P ATl 1, Hid f4U 7Y faedi o 9 Fa9 Sugead 3R &1 94+ Difory
1. A SRR &M 981 § SR R. A D el R 3

ANRRIA T E AFTR . AT TS TR T ®

AT AT R TSR

4, A 8] T8I ¢ Wb R Wel ©

Options :

68634039813. 1
68634039814. 2
68634039815. 3
68634039816. 4
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Question Number : 55 Question Id : 68634010077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The correct components combination regarding Agrisilvipasture 1s?

1. Trees + Crops + Pasture or animals

| )

. Trees + Fruits + Crops
3. Trees + Fishes
4. Trees + Vegetables
Options :
68634039817. 1
68634039818. 2

68634039819. 3
68634039820. 4

Question Number : 55 Question Id : 68634010077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PN I IRATE & Ha # 95l ues A g2

1. 9& + B + IRFTG g1 7Y

| ]

. g8 +~ heige] +
. q&f + HBferar
. gé&f + Fiewai

L]

=

Options :

68634039817. 1
68634039818. 2
68634039819. 3
68634039820. 4

Question Number : 56 Question Id : 68634010078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the responsibilities of village level workers under Panchayati Raj system.

A. Planning development programmes in the district.

B. Development works at village level.

C. Forms link between technical department and the rural people.
D. Coordmates the activities at town level.

E. Coordimates the development programmes at district level.

Choose the correct answer from the options given below:

l.Aand B

[ )

.BandC
3.Cand D

4. Dand E

Options :

68634039821. 1
68634039822. 2
68634039823. 3
68634039824. 4

Question Number : 56 Question Id : 68634010078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ul 76l & ST 9 Wk W Y] B el o1 9 $Y-

A o § fowrg ol &t g
B. U1 TR R fae &
C. AU AR quT ol fSUIeH= & A& féfe a1

D. Fal &R UR fafdfeal o1 ga-ag
E. Toa1 TR R de srideal &1 gue

i fU T fasedl § 9 el STk &1 99 Hifoid ;
1.ASRB
2. B3RC
3.C3RD
4.D3RE

Options :

68634039821. 1
68634039822. 2
68634039823. 3
68634039824. 4




Question Number : 57 Question Id : 68634010079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which year National Rural Employment Guarantee Act (NREGA) was notified?

1. 2009

[ )

.2014
3.2016
4, 2005
Options :
68634039825. 1
68634039826. 2

68634039827. 3
68634039828. 4

Question Number : 57 Question Id : 68634010079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fere ol gty arHivn ISR MRS UFTE (NREGA) B sifgfd foar

1. 2009

|

. 2014
3. 2016
4. 2005
Options :
68634039825. 1
68634039826. 2

68634039827. 3
68634039828. 4

Question Number : 58 Question Id : 68634010080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The extension teaching method used for a group of farmers at village level 1s:

1. Radio and film shows

| B

. Field day
3. Personal letter

4, Television



Options :

68634039829. 1
68634039830. 2
68634039831. 3
68634039832. 4

Question Number : 58 Question Id : 68634010080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U &R R PYD| P g o fo [awanixa e fafd (geges= S Ays) & 9 & wai B S s -
1. ¥ &g quT e
&gA feay
AEEIREF
4, Tifae
Options :
68634039829. 1
68634039830. 2

68634039831. 3
68634039832. 4

| )

[#5]

Question Number : 59 Question Id : 68634010081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many titles were covered in the 2008 Farm bill of United States?

1.12

b2

15
3. 18
4. 16

Options :

68634039833. 1
68634039834. 2
68634039835. 3
68634039836. 4

Question Number : 59 Question Id : 68634010081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g I SR & FH faa 2008 H fFa il &1 sre1e e mn @

1712

b2
—_
L

3. 18
4. 16

Options :

68634039833. 1
68634039834. 2
68634039835. 3
68634039836. 4

Question Number : 60 Question Id : 68634010082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Requirements for Verbal Communication and Non Verbal Communication are:

A. Sender

B. Receiver

C. Medium

D. Mobile Phones, Television.

Choose the correet answer from the options given below:

1. A. B, Conly

[ ]

.B. C.D only
3.A.B.C.Donly

4. A. C.D only

Options :

68634039837. 1
68634039838. 2
68634039839. 3
68634039840. 4

Question Number : 60 Question Id : 68634010082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e TEI0 auT HHIfE® TER0 & Ha9gaHdnt o
A V9B
B. UTel

C. ey
D. Hiasd B, efafaw
i fau T fasedl O I el STk &1 99 Bifoy ;
1.PdU A, B.C
2. $4dB.C.D
3. PAUA.B.C.D

4. FAAA.C.D

Options :

68634039837. 1
68634039838. 2
68634039839. 3
68634039840. 4

Question Number : 61 Question Id : 68634010083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Conservative Reserve Program promotes which of the following?

1. Environment Distress Management

[

. Commodity Conservation Program
3. Nutrition Conservation Program
4. Soil and Water Conservation and wetland restoration promotion

Options :

68634039841. 1
68634039842. 2
68634039843. 3
68634039844. 4

Question Number : 61 Question Id : 68634010083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WRefur Rerd v, e o 8 eyl gemar gar e
1. gafaRTr dde HaeH
2. T TREU HAHH
3. 90T TR&0 ey
4, TET TYT STel AREUT TYT deaivs (3MTs-Hf) 7ol &0 Fr=gu

Options :

68634039841. 1
68634039842. 2
68634039843. 3
68634039844. 4

Question Number : 62 Question Id : 68634010084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Green pigment of thylakoid absorb photons of light energy during photo synthesis.
Statement IT: In the process of respiration light energy i1s converted into chemical energy.
In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4, Statement I is false but Statement II is true
Options :
68634039845. 1
68634039846. 2

68634039847. 3
68634039848. 4

Question Number : 62 Question Id : 68634010084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A SRR GHI 9l § SR R. AD| Hel AR §
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4. ATEI TS g AfFT R WET B

Options :

68634039845. 1
68634039846. 2
68634039847. 3
68634039848. 4

[ ]

Question Number : 63 Question Id : 68634010085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The nutrient considered as secondary plant nutrient is:

1.N

[

.P
3.Ca
4. Mn

Options :

68634039849. 1
68634039850. 2
68634039851. 3
68634039852. 4

Question Number : 63 Question Id : 68634010085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



98 TN dq ford [Edia® ey UINS dd $el odl & -

I.N
2.P
3.Ca
4. Mn

Options :

68634039849. 1

68634039850. 2

68634039851. 3
68634039852. 4

Question Number : 64 Question Id : 68634010086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A INDRI I. Hisar
B. |[CIRB II. JAvikanagar
C. [CSWEI I11. [Kamal
D. [NEC-Pig IV, |Guwahati

Choose the correct answer from the options given below:

1. A-TIL. B-1. C-II. D-IV

| )

CA-IIL B-I1L C-IV, D-I
3. A-L B-I1. C-IV. D-II
4, A-III. B-IV. C-II. D-I

Options :

68634039853. 1
68634039854. 2
68634039855. 3
68634039856. 4

Question Number : 64 Question Id : 68634010086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

T 1 T
A |NDRI 1. [[eOr
B. [CIRB 1. [Hfd® TR
C. [cswRI I1L. [@<Td
D. [NRC-Pig IV. fIaErEl
frafeRad faeedi o I 98l GOk &1 99 Sifor .

1. A-III, B-I. C-II. D-IV

| ]

AL B-ILL C-IV, D-I
3. A-L. B-III, C-IV. D-II
4. A-1. B-I11, C-IV, D-II

Options :

68634039853. 1
68634039854. 2
68634039855. 3
68634039856. 4

Question Number : 65 Question Id : 68634010087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A |Ongole I |Goat
B. Mehsana II. [Cow
C. |Beetal I1I. |Buffalo
D. [Nellore IV. |Sheep

Choose the correct answer from the options given below:

1. A-IL. B-1. C-IV. D-ITI

| )

- A-L B-IL, C-III. D-IV
3. A-IL B-II1. C-1. D-IV
4, A-L. B-I11, C-IV, D-II

Options :

68634039857. 1
68634039858. 2
68634039859. 3
68634039860. 4



Question Number : 65 Question Id : 68634010087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 9=t 11 9 e Sifey
T I T I
EEZl

A AT it

B. [Hegmn . fmg
c Ead 11 (4T
D. HeaR v [4s

ffdiad fawedl ©§ U U8l ST &1 99 HifoiT -

1. A-II. B-L. C-IV, D-III

|

. A-L B-IIL, C-III. D-IV
3. A-IL B-I1II. C-1. D-IV
4. A-1. B-I1I, C-IV. D-II

Options :

68634039857. 1
68634039858. 2
68634039859. 3
68634039860. 4

Question Number : 66 Question Id : 68634010088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Scarcity affects:
1. Industrial Farms
2. Agricultural producers
3. Consumers
4. Farms. Producers and Consumers
Options :
68634039861. 1
68634039862 2

68634039863. 3
68634039864. 4

Question Number : 66 Question Id : 68634010088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039861. 1
68634039862. 2
68634039863. 3
68634039864. 4

Question Number : 67 Question Id : 68634010089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The measure of the value of a Nations Total Production of Goods and Services 1s known as:

1. GNP (Gross National Product)

| )

. GDP (Gross Domestic Product)
3. NNP (Net National Product)
4. ATP (Agriculture Total Product)

Options :

68634039865. 1
68634039866. 2
68634039867. 3
68634039868. 4

Question Number : 67 Question Id : 68634010089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Y B g U1 Ha131 & T SedTeA & T P [ B S o1l &

oy
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| )
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Options :
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68634039865. 1
68634039866. 2
68634039867. 3
68634039868. 4

Question Number : 68 Question Id : 68634010090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The name of crop residue left on soil surface is:

1. Oats

[ )

. Alfalfa

. Mulch

Lad

4. Diurnal

Options :

68634039869. 1
68634039870. 2
68634039871. 3
68634039872. 4

Question Number : 68 Question Id : 68634010090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 TdE IR o BUd a9 G Tl e, HIAH G -
. SHITH (372)
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—

| )

3. Hed
4. %@

Options :

68634039869. 1
68634039870. 2
68634039871. 3
68634039872. 4

Question Number : 69 Question Id : 68634010091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Physical method of weed control does not include:

1. Hoeing

2

. Crop Rotation
3. Hand weeding
4, Tillage

Options :

68634039873. 1
68634039874. 2
68634039875. 3
68634039876. 4

Question Number : 69 Question Id : 68634010091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ERAaR a0 &t 2 fifae fafert & s fifaa 78 &
1. ST

P deh U]

1Y Y WRUdaR FadTar
1.

Options :

68634039873. 1
68634039874. 2
68634039875. 3
68634039876. 4

| ]

L

Question Number : 70 Question Id : 68634010092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Munsell of colour chart is used for:

1. Reading of soil solution

[ )

. Reading of plant chlorophyll

L]

. Reading of soil surface
4. Reading of soil colour

Options :
68634039877. 1



68634039878. 2
68634039879. 3
68634039880. 4

Question Number : 70 Question Id : 68634010092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRaTdidsT I ya_ F i feaaag
1. a1 foer @1 areaie @8
_UIGY FARITpd B gredis (IS
Tl 9dg Pl uredie (i)
TS T BT ursdics (IS
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o

Options :

68634039877. 1
68634039878. 2
68634039879. 3
68634039880. 4

Question Number : 71 Question Id : 68634010093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The longest day for the year occurs on 21st June in Northern Hemisphere and on 21 December in Southern
Hemisphere. This is called:

1. Winter Solistice

| )

. Autumn Solistice

Laa

. Spring Solistice
4, Summer Solistice

Options :

68634039881. 1
68634039882. 2
68634039883. 3
68634039884. 4

Question Number : 71 Question Id : 68634010093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634039881. 1
68634039882. 2

68634039883. 3
68634039884. 4

| )

L

Question Number : 72 Question Id : 68634010094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Shifting cultivation 1s also known as:

1. Diara cultivation

| )

. JThum cultivation
3. Paira
4, Utera
Options :
68634039885. 1
68634039886. 2

68634039887. 3
68634039888. 4

Question Number : 72 Question Id : 68634010094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R adt s am ag i g -
1. ST Wit
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s

Options :
68634039885. 1

| )

L]



68634039886. 2
68634039887. 3
68634039888. 4

Question Number : 73 Question Id : 68634010095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Toxic substance found in Sorghum 1s:
1. Erucic acid
2.BOAA
3.HCN
4. Saponin
Options :
68634039889. 1
68634039890. 2

68634039891. 3
68634039892 4

Question Number : 73 Question Id : 68634010095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fater uerd Sl fob wivva & gl ofrdl 6
SERD S

.BOAA

fa—y

[ ]

3.HCN
4. 901

Options :

68634039889. 1
68634039890. 2
68634039891. 3
68634039892. 4

Question Number : 74 Question Id : 68634010096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the methods of Integrated Pest Management.

A. Modern and old.

B. Biological and Mechanical

C. Genetic and Chemical

D. Cultural

E. Civil law based and Behavioural

Choose the correct answer from the options given below:
1. A.B. C only
2.B.C.Donly
3.A.C.Donly

4.D.C.B.E only

Options :

68634039893. 1
68634039894, 2
68634039895. 3
68634039896. 4

Question Number : 74 Question Id : 68634010096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
JTwTed Fie weeE (pMy H 5 vonferat afiifia @
A. 3TEHE quT GRIT
B. Wlfd® quI gifds
C. 31 Y1 g

D.
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1.9dd A, B.C
2. Hdd B, C,D
3. HA0A.C.D
4.HdUD, C, B, E

Options :

68634039893. 1
68634039894. 2
68634039895. 3
68634039896. 4



Question Number : 75 Question Id : 68634010097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A single gene having multiple effect 1s called:

1. Pleiotropy

(B

. Polyploidy

L¥ 5]

. Aneuploidy

e

. Euploidy

Options :

68634039897. 1
68634039898. 2
68634039899. 3
68634039900. 4

Question Number : 75 Question Id : 68634010097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g U d Si- & &5 UHIG 8 df Heardl &
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. ST
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Options :
68634039897. 1
68634039898. 2

68634039899. 3
68634039900. 4

—
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Question Number : 76 Question Id : 68634010098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a passive factor of soil formation?

1. Parent material

| B

. Biosphere
3. Time

4, Relief

Options :

68634039901. 1
68634039902. 2
68634039903. 3
68634039904. 4

Question Number : 76 Question Id : 68634010098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafead o 9 S H-91 ga1 Foi ¥ te HiShy $RS A6 §
1. 5% gard
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3. 944

Y-St

Options :

68634039901. 1
68634039902. 2
68634039903. 3
68634039904. 4

| )

=

Question Number : 77 Question Id : 68634010099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Liquid assets or current assets is:

1. Tractor

b2

. Cash on hand
3. Farm Building

4. Land

Options :
68634039905. 1



68634039906. 2
68634039907. 3
68634039908. 4

Question Number : 77 Question Id : 68634010099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R e gRgufd 71 =] (we) gRauf §:
1. TFR

-~

RS REIRERIE
o fafegT

oy

Options :

68634039905. 1
68634039906. 2
68634039907. 3
68634039908. 4

[ ]

L]

Question Number : 78 Question Id : 68634010100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Consumers are:

1. An individual or household that purchases goods or services.
2. Consumers are buyers of goods only.
3. Consumers and Producers have same character.
4. Consumers are farms producing products.

Options :

68634039909. 1

68634039910. 2

68634039911. 3
68634039912. 4

Question Number : 78 Question Id : 68634010100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039909. 1
68634039910. 2
68634039911. 3
68634039912. 4

Question Number : 79 Question Id : 68634010101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The study of economic growth, inflation. boom,. recession. depression, unemployment. business fluctuations
18:

1. Micro economics
2. Positive economics
3. Normative economics

4. Macro economics

Options :

68634039913. 1
68634039914. 2
68634039915. 3
68634039916. 4

Question Number : 79 Question Id : 68634010101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIftes AP & siegg H AEis,. 90, UiaR (REeH), He] (FEUeM), SRISNR], s5a9iiie 3dR-9¢1d o
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Options :

68634039913. 1
68634039914. 2
68634039915. 3
68634039916. 4

Question Number : 80 Question Id : 68634010102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

GATT stands for:

1. General Agreement for Trade and Tax

[ )

. Global Agreement for Tariff and Trade

Lad

. General Agreement for Tariff and Trade
4. Global Agreement for Trade and Tax

Options :

68634039917. 1
68634039918. 2
68634039919. 3
68634039920. 4

Question Number : 80 Question Id : 68634010102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GATT®T U U g :

1. S Rd GlH=< BR ¢8 T ¢ay
2. THied B BR NG 18 ¢S
3. OFRd T BRERB T ¢ s
4. TEd U< BR ¢S TS ¢l

Options :

68634039917. 1
68634039918. 2
68634039919. 3
68634039920. 4

Question Number : 81 Question Id : 68634010103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1 LISTII
A |[Equilibrium Price 1. |Quantity demanded varies inversely with pricel
B. PMonopoly II. |5ingle seller
C. |Free Trade Agreement and GATT| IT1. |A point from which nothing change
D. [Law of Demand IV |To eliminate trade barriers

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

|

AL B-LL C-IV. D-IT
3. A-L. B-II. C-III. D-IV
4, A-IV. B-III. C-II. D-I

Options :

68634039921. 1
68634039922. 2
68634039923. 3
68634039924. 4

Question Number : 81 Question Id : 68634010103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 9 fHaH Sifen
AT T I
A [oqad ged L [Amn A, g 3 fawid ©9 Y 13F gid] o
B. [0@NUFR 11 [Uchd fdehdl
C. [Hod SR YHSA1 341 GATT] 111 [T T oigl § 38 gl ggadl
D. [ &1 FHag IV. [GTOR SRIYT Bl g
fafafad faedl & 9 98t SR &1 99 S

1. A-I, B-II. C-III. D-IV

| ]

AL B-1L C-IV. D-II
3. A-L. B-I1, C-III. D-IV
4. A-IV. B-IIL C-II. D-I

Options :

68634039921. 1
68634039922. 2
68634039923. 3
68634039924. 4



Question Number : 82 Question Id : 68634010104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The agronomic measure of soil and water conservation is:

1. Contour bonding

[ )

. Sub-Sailing

L]

. Contour farming
4. Bench terracing

Options :

68634039925. 1
68634039926. 2
68634039927. 3
68634039928. 4

Question Number : 82 Question Id : 68634010104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 TUT 5 TR&UT 1 PV HIIS §

1. GH=RET (o) FifsT

| ]

 3U-HgPhU

 gH=REd P
4. S R

Options :

68634039925. 1

68634039926. 2

68634039927. 3
68634039928. 4

L]

Question Number : 83 Question Id : 68634010105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct statement:

1. Abiotic 1s living component of an ecosystem.

| B

. Abiotic disease 1s a plant disease caused by a living factors
3. Biodiesel 1s a renewable substitute for petroleum based diesel
4. Alleolopathy is positive effect of one plant on another due to production of a natural inhibitor.

Options :

68634039929. 1
68634039930. 2
68634039931. 3
68634039932. 4

Question Number : 83 Question Id : 68634010105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE1 B P g
1. U% UIRGH & wiifdd gcd uifad o
2. S I U UTEY I & Sl Siifdd BRe! gRI b o §
3. STIETsTel U il d i @ i s Sod o1
4. TGN U IS P IR TR W SRR % Saiee SRR aTe ST T §

Options :

68634039929. 1
68634039930. 2
68634039931. 3
68634039932. 4

Question Number : 84 Question Id : 68634010106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the incorrect statement:

1. Alfalfa is a legume which 1s one of the oldest cultivated forage crops for livestock feed

[

. In C5 plants the first molecule formed has three carbons
3. A measurement of energy content of a food or plant material is calorie
4. Soil erosion is erosion caused by living organisms

Options :
68634039933. 1



68634039934. 2
68634039935. 3
68634039936. 4

Question Number : 84 Question Id : 68634010106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ted HYH Bl TgHI-L;
1. UEhTeh] U WallgR Urel 8 il fdh URe= 9R & [T GTITE o arell Sad ORI IR1 B9d §
2. C; UTEYl ¥ Hed Ugd a4 ardl U] 1 ol Pla- 8id ©
3. o a1 T urd | Soll A1 &1 A0S SaRl §
4. &1 3UReA SHifad IR g & S aren SiRe §

Options :

68634039933. 1
68634039934, 2
68634039935. 3
68634039936. 4

Question Number : 85 Question Id : 68634010107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct statement about production and production function:
K= Capital L = Labour
A =Land M = Management
1. Production is operational process and production function y=f(A. K. L. T)
2. Production 1s continuous process and production function y=f{K. L A)
3. Production is batch process and production function y=f(A.L)

4. Production is the process of combining searce resources into outputs and production function y=f{K., L.
A.M)

Options :

68634039937. 1
68634039938. 2
68634039939. 3
68634039940. 4

Question Number : 85 Question Id : 68634010107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IAGA dYT 31 Ba- & [0 T8l HUT § -
K=ol L=41

A=Y M =Ygy

1. Id1EA Aihurars Hithal g dul e e y=HA. K. L. T)

2. 3G U Idd il § adT I B y=AK. L A)
3. 3e a9 H g arcll WiehdT § aUT 3de B y=fA.L)

4. IS gAY Tl BT AT B 7 (31Seqe) TR 3T UihaT § 9UT SdTe Ba y=fK. L. A.
M)

Options :

68634039937. 1
68634039938. 2
68634039939. 3
68634039940. 4

Question Number : 86 Question Id : 68634010108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Crop Productivity Index (CPI) is a system for categorizing soils based on their capacity for crop
production.

Statement II: Crop Equivalency Rating (CER) 15 a system for categorizing soils based on profitability of soils
for crop production.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

-2

. Both Statement I and Statement II are incorrect
3. Statement I 15 correct but Statement II is incorrect

4, Statement [ is incorrect but Statement II 1s correct

Options :

68634039941. 1
68634039942, 2
68634039943. 3
68634039944. 4

Question Number : 86 Question Id : 68634010108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039941. 1
68634039942, 2
68634039943. 3
68634039944. 4

(3=

Question Number : 87 Question Id : 68634010109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The disease caused by deficiency of Molybdenum 1is:

1. Khaira disease of rice
2. White Bud of maize
3. Rosette of apple
4. Whiptail of cauliflower

Options :

68634039945. 1

68634039946. 2

68634039947. 3
68634039948. 4

Question Number : 87 Question Id : 68634010109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039945. 1
68634039946. 2
68634039947. 3
68634039948. 4

Question Number : 88 Question Id : 68634010110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the types of multilateral agreements in chronological order.

A. GATT (General Agreement on Tariff and Trade)
B. AOA (Agreement on Agriculture)

C. WTO (World Trade Organisation

D. Blue Box in Agreement on Agriculture

E. Red Box in Agreement on Agriculture

Choose the correct answer from the options given below:

1LLAB.EE I

| )

B E DB A
3JACBDE
4. C.D.AE.B

Options :

68634039949. 1
68634039950. 2
68634039951. 3
68634039952. 4

Question Number : 88 Question Id : 68634010110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ggualia il & UhR &I BIabHTHR saieyd By

A, GATT
B. AOA
C. WTO

D. & (-IIan) died
E. IS (49 dig9
i fSu U [dwedl § U 9ol 3R &1 994 ST :
1.A.B.C.E.D
2.B.C.D.E.A
3.A,C.B,D,E
4.C.D.A.E.B

Options :

68634039949. 1
68634039950. 2
68634039951. 3
68634039952. 4

Question Number : 89 Question Id : 68634010111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Sugars are synthesised during photosynthesis from carbon dioxide and water in the presence of
sunlight.

Statement IT: Respiration in plants results in the formation of monosaccharides.
In the light of the above statements. choose the eorrect answer from the options given below

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT is true

Options :

68634039953. 1
68634039954. 2
68634039955. 3
68634039956. 4



Question Number : 89 Question Id : 68634010111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRR
BYH I UDT HRATT & SR Wb BT HLAT0 PIe SSRGS 3R IHI 8 TBT Dl Suieufar o
iﬁﬁ: TR AUl &b SR &l Foll dliile ATP GUI NADPH §d ¢ ol b siifad ITRep13f &
FATEY (FeTaiiere) T Hge 81 ©
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Options :

68634039953. 1
68634039954, 2
68634039955. 3
68634039956. 4

Question Number : 90 Question Id : 68634010112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The root stock of apple used for dwarfing 1s:

1. M12

[ )

. MO
3. MM109
4. MM106

Options :

68634039957. 1
68634039958. 2
68634039959. 3
68634039960. 4

Question Number : 90 Question Id : 68634010112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YT BT 9IS I [BaP SHIHR0 3 o8 Fgad oIl 87

1. M12
2. Mo
3. MM109
4. MM106

Options :

68634039957. 1

68634039958. 2

68634039959. 3
68634039960. 4

Question Number : 91 Question Id : 68634010113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the male reproductive part of a corn plant

1. Tassel

2

. Tars
3. Tall feseue
4, Tilth
Options :
68634039961. 1
68634039962. 2

68634039963. 3
68634039964. 4

Question Number : 91 Question Id : 68634010113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ha®1 U169 & R A1 U &1 91 gl
1. o9d
&3]
.aﬁgﬁiﬁ}w
4. ey

Options :
68634039961. 1

| )

L]



68634039962. 2
68634039963. 3
68634039964. 4

Question Number : 92 Question Id : 68634010114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The nation with the lowest cost of production has:
1. A comparative advantage
2. Unfair advantage
3. Absolute advantage

4. A competitive advantage

Options :

68634039965. 1
68634039966. 2
68634039967. 3
68634039968. 4

Question Number : 92 Question Id : 68634010114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1y o Idre &1 Fead arrd 8. & I gl

1. eI T
B GIEGRGIE
ey
4. gfcregeff @y

Options :

68634039965. 1
68634039966. 2
68634039967. 3
68634039968. 4

| )

L]

Question Number : 93 Question Id : 68634010115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the incorrect statement:

1. Disaccharides include sucrose. maltose and lactose having molecular formula C;;H,,0,

[

. Sucrose 1s the most important disaccharide having 50% glucose and 50% fructose. It is also known as
sugar.

3. Carbohydrates are compounds of Carbon, Oxygen, Nitrogen. Hydorgen, Sulphur and Sodium
4. Water is a compound having hydrogen and oxygen

Options :

68634039969. 1

68634039970. 2

68634039971. 3
68634039972. 4

Question Number : 93 Question Id : 68634010115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Teid Y Bl I8Ny :
1. SEAPES T gbiol, Aleeis aul daeiy [Tl S0 C,H,,0,, Jfid o

2, §q?|u1 Y T SIgUTRISS [ ¥H 50% T Y aUl 50% Wi ¢ g8 JFR & 418 I U |l Sl

3. PEEESC, DIE-. AT, Ao, S g, Yo aul Tfsoa Y aifi® ©

4. 9 i qur grggieH 4 s e §

Options :

68634039969. 1
68634039970. 2
68634039971. 3
68634039972. 4

Question Number : 94 Question Id : 68634010116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The relationship among Mean, Mode, Median 1s:

1. Mode = 4 Median - 2 Mean

| )

. 3 Mode = 2 Median - 3 Mean

Lad

. Mode = Median - 4 Mean

4. Mode = 3 Median - 2 Mean



Options :

68634039973. 1
68634039974. 2
68634039975. 3
68634039976. 4

Question Number : 94 Question Id : 68634010116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T, A% AR H1F & T $I FE Y uidarg -

1. dgdf =4 HID - 2 HIEY

| )

3 dgeld =2 HIH$ - 3 HIH

[#5]

. g0 = IS - 4 0

=

. dgd =3 HIED - 2 HIEY

Options :

68634039973. 1
68634039974. 2
68634039975. 3
68634039976. 4

Question Number : 95 Question Id : 68634010117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The determinants of supply are:

1. Price of the goods, income, tastes and preferences
2. Prices of related goods, technology. the number of sellers
3. Amount of goods available, given time, given place
4. Consumer income, income spent on food

Options :

68634039977. 1

68634039978. 2

68634039979. 3
68634039980. 4

Question Number : 95 Question Id : 68634010117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3Tfet & e © --
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Options :

68634039977. 1
68634039978. 2
68634039979. 3
68634039980. 4

Question Number : 96 Question Id : 68634010118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): Product life cycle has four stages: Introduction, Growth, Maturity. Decline.
Reason (R): Similary project cycle has stages Introduction. Commissioning, Growth,
Implementation/Execution

In the light of the above statements. choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A) 1s true but (R) 1s false
4, (A) 1s false but (R) 1s true

Options :

68634039981. 1

68634039982. 2

68634039983. 3
68634039984. 4

Question Number : 96 Question Id : 68634010118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039981. 1
68634039982. 2
68634039983. 3
68634039984. 4

Question Number : 97 Question Id : 68634010119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the steps of farming in order:
A. Tillage is critical step in land preparation before crop planting.
B. Sprinkler irrigation system applies pressurized water through sprinkler.
C. A part of land used for agriculture and raising of crops in farm.

D. Tractor 1s used in farm for efficient production and to save time.
E. Precise application of seeds and fertilizers are done through seed cum fertilizer drill.

Choose the correct answer from the options given below:

1LLAB.CBE

b2

B, C,D,AE
3 D.C.B.AE
4 C.A.D.B.E

Options :

68634039985. 1
68634039986. 2
68634039987. 3
68634039988. 4

Question Number : 97 Question Id : 68634010119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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B,C.DAE
3.D,C.B.A.E
4 C.A.D.B.E

Options :

68634039985. 1
68634039986. 2
68634039987. 3
68634039988. 4

Question Number : 98 Question Id : 68634010120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Mitosis is the division of a cell into two cells which are identical to the initial one. Mitosis is a
process required for growth and development.

Statement ITI: is another type of cell division that reduces the genetic content by half and 15 associated with
sexual reproduction and occurs in the female reproductive organs only.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement I 1s false
4. Statement I 15 false but Statement 11 is true

Options :

68634039989. 1

68634039990. 2

68634039991. 3
68634039992. 4



Question Number : 98 Question Id : 68634010120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I al HUF ﬁ-[{ Mz %’: MHHYS (Assertion A) & 9 4 fafad % al GIRT PRI (Reason R) & IY -

HTUDYA A: G [GUTSH DIRIeD1 &1 ag [qureH © o &1 2 SIS, gRES 4 sfim 5|
YA fauTer &t srargehd gig au faera & o gidl 51

SROTR: HeI-GA [GUISH U 39 YR B1 [GUTSH § Sl o1t YAV g1 SATIaIS 1 30 D1 e B Sl
& T8 ST Tor O TafRd € YT dhae Arat dffes ot § € ufed giar g |

SWRIGd DY & el 1, A S 7Y faheul & 4 a9 SUged 3R &1 99 Sifoly
1. A 3R R I 961 § SR R. A DI el RS §

AJRRIATHE TR, AT TS TR T §

AT AR TSR

AT TR AFIRTE ©

Options :

68634039989. 1
68634039990. 2
68634039991. 3
68634039992. 4
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Question Number : 99 Question Id : 68634010121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the true statements about industrialization of agriculture.

A. Modern farms

B. Minimization of production cost
C. Availability of raw material

D. Availability of Irrigation facilities
E. Taxonomy

Choose the correct answer from the options given below:
1.A.B.D.C.E only
2.B.C.D.E only
3.A B.C.D only

4. A . B.C.E only

Options :

68634039993. 1
68634039994, 2
68634039995. 3



68634039996. 4

Question Number : 99 Question Id : 68634010121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PN & SRS G et 9 Syl H 9 T8 YA Bifey --

A. 31D Gt

B. 31 ANIG &I (HEaH@0
c. T= U Pt SudREr

D. THTE giaersi &1 e

E.

i fau U f[daredl 1 O 9al 3Tk &1 944 $ifefu ;
1.HddA.B.D.C.E
2. $dd B, C, D, E
3. Hdd A, B.C.D
4. PdAd A, B.C.E

Options :

68634039993. 1
68634039994. 2
68634039995. 3
68634039996. 4

Question Number : 100 Question Id : 68634010122 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Break even point I. |Superior productive capacity
B. |Absolute advantage II. [Consumer willingness and ability to pay good
C. |Comparative advantage| IT1. |Total revenue = Total cost
D. |Demand IV, [Lower cost of production

Choose the correct answer from the options given below:

1. A-I. B-III. C-II. D-IV

| )

AL B-IV, C-L. D-II
3. AL B-II. C-I1, D-IV
4. A-IV. B-III. C-II. D-I

Options :



68634039997. 1
68634039998. 2
68634039999. 3
68634040000. 4

Question Number : 100 Question Id : 68634010122 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

gl 1 1 Yl 1 ¥ fieH sifore

il g I
[ ERf§g| 1 [Sw Sded &HdT
U oy 11 [SUHIG B gwd] aUl =31 HITdH 3 B &l

oD Ay | 1L [od ¥9=g = & aFTd
AN V. [3Te &1 hH OrTd
Frafafad faedl & 3 981 TR 1 991 S

1. A-I. B-III. C-II. D-IV

S IREIE

2. AL B-IV. C-1. D-II
3. A-L. B-II. C-II, D-IV
4. A-IV. B-IIL C-II. D-I

Options :

68634039997. 1
68634039998. 2
68634039999. 3
68634040000. 4



